MULTIPLICATION: DECIMAL NUMBERS (H - SET 2)
TEST 2

Name:

Time:

Score:
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0.04 x 10 =

2 6e — 05 x 10 =

3) Te — 05 x 10 =

49 0.3 x4 =

5 7T x 10 =

6) 2 X H=

N 0.7xX6=

8 3 x0.7T=

99 04 x1=

100 0.09 x 0.4 =

0.0l x 8=

12)(0.05 x 0.03 =

13 0.008 x 0.8 =

1) T x 6=

15 1 x 0=

Mathematics: Multiplication - Level 6 - Horizontal - Set 2
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0.0006 x 0.008 =

Hx 4.5 =

6 x 0.014 =

0.009 x 0.096 =

0.008 x 32 =

0.02 x 10 =

0.5 x 10 =

Hhx 10 =

1 X &=

4 x0=

4 x 2=

0x0.7=

0.8 x 0.5 =

0.bxH=

9 x 0.06 =
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